Operations with Two Mixed Fractions (C)

Name: Date: Score:

Calculate each result.

1 547L+21—62 =
2 5%+2% =
3 5§+21i7 =
4 S%XI% =
5 5%+3; =
6 5%+5%t =
7 52—2% =
8 I%XSg =
9 Si—Sl =
11 4
10 5%+2§ =
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Operations with Two Mixed Fractions (C) Answers

Name: Date:
Calculate each result.
L shi6 39,30 468 210 678
C 77 12 7 12 84 84 84
, slopl4 11 52 1 19 209
T2 7719 7 2 19 0 2 752 7 104
. 55+21 _45+35 _76S+280_ 1045
© 78 17 8 17 136 136 136
Lsixal o By w8
76 2 6 2 12 )
51+33 _41+24_287 192 _ 479
> 98T T 8T T 56 "6~ s
658 51_73 21 _ 734 292
" 713 4 13 4 13721 273
753 29_43 43 _ 731 344 _ 387
© 78 17 8 17 136 136 136
7 4 24 29 696 16
8. 11—7X5§—EX?— g = Sg
954 51_59 21 _ 236 231 _ 5
711 T4 11 4 44 44 44
T2 773 2 "3 278 16

31
56

19
273

115
136

Score:
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